
Two masses of 7kg and 3 kg respectively hanging on pulley. Calculate acceleration due to 

gravity.  

Answer on Question#36741 - Physics - Mechanics 

The net force acting on the system is the difference between weights of two objects: 

𝐹𝑛𝑒𝑡 = 𝑊1 − 𝑊2 = 𝑚1𝑔 − 𝑚2𝑔 = (𝑚1 − 𝑚2)𝑔, 

where 𝑚1 = 7 𝑘𝑔, m2 = 3 𝑘𝑔, 𝑔 = 10
𝑚

𝑠2
. 

Total mass of the system  

𝑀 = 𝑚1 + 𝑚2. 

According to the Newton’s second law acceleration due to gravity is 

𝑎 =
𝐹𝑛𝑒𝑡

𝑀
=

(𝑚1 − 𝑚2)𝑔

𝑚1 + 𝑚2
= 10

𝑚

𝑠2
∗

7 − 3

7 + 3
= 4

𝑚

𝑠2
. 

Answer: 𝟒
𝒎

𝒔𝟐. 
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